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]_ (20R) ROBYK z = f(z,y) ORBBE 2,, 2., D (z,y) = (1,1) ICBT BEERD L.
(1) 2=+6z—-Ty?+2 (2) z=log|2® — 37|

2 (20/)
(1) Ba% z = (2? — 2y%)sin(mzy/2) DT 57D (2,y) = (1,1) RBI HELHOFBRER
o &

(2) B f(o,y) =222~ D (2,y) = (1,2) L BEEBRE L LT5, (2VTFTLTBR
BBZE y=¢(z) 35, y=¢(z) OMBIK dy/de,d?y/dz? O, z =1 BT BEEZH LB L.

3 (20R) ROBBIPWAME, BIMELRD K& W MEEERD L.

(1) f(z,y) = 22 — 32y + 4y° — 11z + 14y + 15

(2) fle,y) =2 - 222" — 4t + 4

4: (40R) KOWMyEHEAT L.

//D 2eysin(ey’)dedy, D= {(z,y):0<z<m0<y< 1}

//D 12(z — 2y)°dzdy, D :={(z,y):0 <r<y<1)

// (—2+2y)(22 + y)’dzdy, D={(z,y): -1<-2+2<1,-1<2z+y<1}
// xzi?ildfdy, D={(z,y):2* +y* < 1,y > 0}

(5) / (—2%y + 3y?)dz + 6zydy, C:z = cosf,y =sind, 0<0<2r
C



